
RFL 12/05/01

1010A Quad Defocussing Power Supplies

R10AQD1 R10AQD2 R10AQD3 R10AQD4

Node Card QPAIC - B1

Address: 10

PS = 8 Node Card Port: 10 - 9

Spacer Spacer

Quench Protection Quench Protection Quench Protection Quench Protection

QP05 QP05 QP05 QP05

bo10-qf8-qp bi9-qf9-qp yo9-qf8-qp yi10-qf9-qp

QPAIC: A2 QPAIC: B1 QPAIC: A2 QPAIC: B1

QPAIC Port: B3 QPAIC Port: B7 QPAIC Port: Y2 QPAIC Port: Y7

BO10-PSFA In 1: bo10.qf8.i - BQID BI09-PSFA In 1: bi9.qf9.i - BQID YO09-PSFA In 1: yo9.qf8.i - YQID YI10-PSFA In 1: yi10.qf9.i - YQID

bo10-qf8-ps In 1 wfg: cfe-10a-ps1.d1 bi9-qf9-ps In 1 wfg: cfe-10a-ps1.d0 yo9-qf8-ps In 1 wfg: cfe-10a-ps2.d0 yi10-qf9-ps In 1 wfg: cfe-10a-ps2.d1

200A @ 15V In 2: bo10.qd9.i - BQID 200A @ 15V In 2: bi9.q89.i - BQID 200A @ 15V In 2: yo9.qd9.i - YQID 200A @ 15V In 2: yi10.q89.i - YQID

In 2 wfg: cfe-10a-ps1.e1 In 2 wfg: cfe-10a-ps1.e0 In 2 wfg: cfe-10a-ps2.e0 In 2 wfg: cfe-10a-ps2.e1

S = R06 - B - J12 S = R06 - B - J8 S = R07 - B - J8 S = R07 - B - J12

I = R06 - B - J13 I = R06 - B - J9 I = R07 - B - J9 I = R07 - B - J13

Node Card Port: 10-1 V = R06 - B - J14 Node Card Port: 10-3 V = R06 - B - J10 Node Card Port: 10-5 V = R07 - B - J10 Node Card Port: 10-7 V = R07 - B - J14

R = 5.70 mOhms D = R06 - B - J15 R = 5.54 mOhms D = R06 - B - J11 R = 6.02 mOhms D = R07 - B - J11 R = 5.86 mOhms D = R07 - B - J15

Spacer Spacer Spacer Spacer

Quench Protection Quench Protection Quench Protection Quench Protection

QP04 QP04 QP04 QP04

bo10-qd9-qp bi9-q89-qp yo9-qd9-qp yi10-q89-qp

QPAIC: A2 QPAIC: B1 QPAIC: A2 QPAIC: B1

QPAIC Port: B4 QPAIC Port: B8 QPAIC Port: Y3 QPAIC Port: Y8

BO10-PSDA In: bo10.qd9.i - BQID BI09-PSDA In: bi9.q89.i - BQID YO09-PSDA In: yo9.qd9.i - YQID YI10-PSDA In: yi10.q89.i - YQID

bo10-qd9-ps wfg: cfe-10a-ps1.e1 bi9-q89-ps wfg: cfe-10a-ps1.e0 yo9-qd9-ps wfg: cfe-10a-ps2.e0 yi10-q89-ps wfg: cfe-10a-ps2.e1

+/- 300A @ +/- 15V +/- 300A @ +/- 15V +/- 300A @ +/- 15V +/- 300A @ +/- 15V

S = R06 - C - J4 S = R06 - C - J0 S = R07 - C - J0 S = R07 - C - J4

I = R06 - C - J5 I = R06 - C - J1 I = R07 - C - J1 I = R07 - C - J5

Node Card Port: 10-2 V = R06 - C - J6 Node Card Port: 10-4 V = R06 - C - J2 Node Card Port: 10-6 V = R07 - C - J2 Node Card Port: 10-8 V = R07 - C - J6

R = 4.00 mOhms D = R06 - C - J7 R = 3.89 mOhms D = R06 - C - J3 R = 4.23 mOhms D = R07 - C - J3 R = 4.11 mOhms D = R07 - C - J7


